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1. From rocket diameter scale move down along slanted line to vertical line matching drag coefficient.
Aerotech 1000 = 2. Move along horizontal to left border of density scale
g 3. Move up slanted line to vertical line matching density at launch site
K560W z 4. From intersection point move horizontally to vertical line matching rocket mass
s 5. Read off expected time to apogee from red curves, altitude from green curves
l o = 2467.2Ns §
Fag = 496.9N \\ 500 ; time to apogee: 20.8s, expected altitude: 2380m
toum = 4.96s = .
ol s mm empty weight [kg]
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§ cq § 3 Dens;ty N 7.5 8. 8.5 0. 9.5 10. 10.5 1. 11.5 12. 125 13. 13.5 14. 14.5
S [gm*] S ;
takeoff weight [kg]
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